Answers to PreCalc Review sheet
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6. no solution
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12. 1

13. sec θ
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Suggested approach for the proofs:
20. get common denominators on the left.  Use the Pythagorean identity

21. get common denominators on the left. Use the Pythagorean identity.

22. FOIL the left.  Replace sin2θ with 1 – cos2θ (Pythagorean identity)
23. Factor the left.  Use the Pythagorean identity.

24. rewrite secθ as 1/cosθ.  Flip and multiply.
25. distribute tan x.  Simplify.  Get common denominators on the left.  Use the Pythagorean identity.

26. Add one to both sides, change “tan2x + 1” to “sec2x”.  Factor by taking out GCF, then solve.  Answer:  x = π +2πk

27. Factor out GCF, then solve.  Answer:  x = π/2 + πk, π/3 + πk, 2π/3 + πk

28. Factor the quadratic trinomial, then solve.  Answer:  x = π/4 + π/2 k, 2πk

29. Check your graph by graphing in the calculator (IN RADIAN MODE, ZOOM 7: TRIG)

30. Same as #29, yo.
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